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General Instructions :

Read the following instructions very carefully and follow them :

(i)
(i1)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.

Question paper is divided into five sections — Sections A, B, C, D and E.

Section A — Questions number 1 to 12 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — Questions number 13 to 18 are Short Answer type questions. Each question
carries 2 marks. Write answer to each question in 50 to 60 words.

Section C — Questions number 19 to 23 are Long Answer type-I questions. Each
question carries 4 marks. Write answer to each question in 100 to 120 words.

Section D — Questions number 24 to 26 are Passage, Cartoon and Map-based
questions. Answer each question accordingly.

Section E — Questions number 27 to 30 are Long Answer type-II questions. Each
question carries 6 marks. Write answer to each question in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the choices in such questions has to be
attempted.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such questions
are to be attempted by Visually Impaired candidates only.

SECTION A

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark

each.
1.

59/S/3

12x1=12

For this question, two statements are given — one labelled as Assertion (A) and

the other labelled as Reason (R). Read these statements carefully and choose the

correct option as the answer from the options (A), (B), (C) and (D) given below.
Assertion (A) :  Common property resources have dwindled in size, quality and
availability to the poor in much of the world.
Reason (R) : A combination of factors including privatisation, agricultural
intensification, population growth and ecosystem degradation are
responsible for degradation of common property.
Options :
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the
correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

3 P.T.O.
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-1 T GEfl-11 | HE e AT S 3 o &9 1 @l foshed T -

G-I gel1-11
1. STl TTEIOT AT, TR Qi 1975
2. forsreft stferfaem, wra () 1992
3. qeeft e (iii) 2001
4. IS el AT SheforE (iv) 2003
oot (qetaE)

foehea

(A) 1<), 2-(i), 3-(iii), 4-(ii)
B)  1<(iii), 2-(iv), 3-(ii), 4-(i)
(C) 1<), 2~(ii), 3-(i), 4-(iv)

(D)  1-(i), 2-(ii), 3-(iv), 4-(iii)

T5, WTH(deh SATIRT 7T TSHI{oh TS o T S BIS el AN b Heferiad
T © T TR/ AT S 2

(A) o=t B) fraifea
(C)  zromeff (D)  SarEl
“Freefteror & fore asft rsat @ SRR  R |

(A) T ORI JHR o SRR I @ 6

(B) TR o Afenrgur a1 former ot fafvafia s &t

(C)  Tauifert o arer SRAT o a1 § SRR 9T i

(D)  ©feh ATHHOT o foreeg, GLaT STIET SATHHAT kel o 17T STIE H HEANT Lt 3h
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Match the List-I with List-II and choose the correct option as answer :

List-1 List-I1

1. The Energy Conservation Act, India (i) 1975
2. The Electricity Act, India (i) 1992
3. Earth Summit (iii) 2001
4. World Council of Indigenous Peoples  (iv) 2003
Options :

(A)  1-(iv), 2-(1), 3-(iii), 4-(ii)

(B)  1-(iiD), 2-(iv), 3-(i1), 4-(1)

©) 1), 2-(iii), 3-(1), 4-(iv)

D) 1-(), 2-(ii), 3-(iv), 4-(iii)

People who flee from war, natural disaster or political persecution are called

(A)
©)

“Disarmament” requires all states to

(A)
(B)
©
(D)

Fugitives (B)  Expatriates

Refugees (D)  Migrants

give up certain kinds of weapons
regulate the acquisition or development of weapons
share information about arms with rivals

coordinate their actions to deter or defend against military attack

P.T.O.
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(C) IaH
(D) =R
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5. The Presidents of which Central Asian Republics appointed themselves to power

first for ten years and then extended their term for another ten years ?
(A)  Kyrgyzstan and Kazakhstan (B)  Ukraine and Azerbaijan

(C)  Turkmenistan and Uzbekistan (D)  Tajikistan and Kazakhstan

6. Arrange the following events in chronological order :

L Gorbachev became the General Secretary of Communist Party of the

Soviet Union.
II. Russia, Ukraine and Belarus declared that Soviet Union is disbanded.
III.  Russian Revolution.
IV.  Fall of the Berlin Wall.

Choose the correct option.
(A) HOLLIV,II
(B) HOLILLIV
(© UL LILIV

(D) TLIV,LII

7. To which state of India does the Dimasa community belong ?
(A) Mizoram
(B)  Tripura
(C)  Assam

(D)  Manipur

8. Where was the Afro-Asian Conference held in 1955 ?

(A)  Jakarta (B) Bandung

(©) Bali (D) Java

59/S/3 7 P.T.O.
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(A)

(B)

©
(D)

TR (A) 3R FROT (R) SHT Wl & 3T HWor (R), 317 (A) st wet
SRS AT |
AT (A) SR FRT (R) ST F&T &, T T (R), ATHRAT (A) T Gt
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10.  9RA 3 =T 7 Jueiier gHeid 9 gLarer e av J e o 2

(A)

©

1950 (B) 1952

1954 (D) 1956

11.  WRAdH -4 o9 QU H etarii-eh AT 7 (EVM) o1 ST Y& foha 71 2

(A)
©

2001 (B) 2002

2003 (D) 2004

12.  Trmfafed #§ @ sH- asHifaes arél veeft drset § g fagef aref of 2

(A)
(B)
(©)
(D)
59/S/3

g e ST Sfeam
Ty S
wrrferes et

i e el



9. For this question, two statements are given — one labelled as Assertion (A) and
the other labelled as Reason (R). Read these statements carefully and choose the

correct option as the answer from the options (A), (B), (C) and (D) given below.
Assertion (4) : Instead of one tribal state, several states got carved out of Assam.

Reason (R) : Leaders of the major tribal communities wanted to separate from

Assam.
Options :

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of the Assertion (A).

(B)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of the Assertion (A).
(C)  Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

10.  In which year did India and China sign the Panchsheel Agreement ?
(A) 1950 (B) 1952
(©) 1954 (D) 1956

11. In which year did India start using the Electronic Voting Machines (EVM)
throughout the entire country ?
(A) 2001 (B) 2002
(©) 2003 (D) 2004

12. Which one of the following political parties was the main opposition party in the
first Lok Sabha ?

(A) Communist Party of India
(B)  Bharatiya Jana Sangh

(C)  Socialist Party

(D)  Congress Socialist Party

59/S/3 9 P.T.O.



13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

59/S/3

Qs g

HuEE fovd 7 dfire TS fore TR Fat o foTe Tk 1 U 741 |id 8 ? T
i

1952 H T&AT HTH TS FLAHT, YR 6 IS HTIANT o FIT Teh ANY01 hrl it T 2
T AT |

AT gfg ST TArehclat foher Toh I b 31TRreh L& JEM i H HETaeh § ? T
TSI |

R § TR forepme o Stetd o wenfd s H §8anT o et foheal &1 il ol
ISR I |

aieree o Fmfor & udf, el arferear & @t grr ufim mifeae & ol % g @
FHTT T 1T |

TR o ol o U8 TR o A faRae e ohes 8 Teste st @il & g
fopam |

Queg T
VR ST T et 3T forReroor hitSTe |
Arferra gomett st foreel = forsrearsty it same Hifsre |

(F) ¥R % MM % a1 3l fafire wraey § |7 21 3aTew s HerdT | e i
e hife |

AT
(@) ORd FT 3T DI GSIET <M o a1 FHEnAl & {Fal & o 1 fageryor
I |

(F) iR o foret = 3Tfoies aftumi i same i |
e

(@) TRt o foRrel T Tieshicieh TIUTTHT 3T ST ShiTSTT |

AN | BT STTTEETET QI o fohra a1 SRl 3T fgetsur hifery |
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13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.
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SECTION B

How is ‘global poverty’ a new source of threat to security in the contemporary
world ? Explain.

Why was holding of the first general elections in 1952 a great challenge for the
Election Commission of India ? Explain.

How do economic growth and democracy help India in providing greater
security ? Explain.

Highlight any two factors that contributed towards the development of consensus
around the need for planned development in India.

Explain any two reasons for protests by the people of East Pakistan against West
Pakistan prior to the creation of Bangladesh.

Name any four Prime Ministers of India who led the Coalition Governments at the
Centre.

SECTION C

Analyse the Nuclear Policy of India.
Explain any four features of the Soviet System.

(a) “India enjoys a very special relationship with Bhutan.” Support the
statement with two examples.

OR

(b)  Analyse any two reasons for the problems that India has with its smaller
neighbours.

(a) Explain any four economic consequences of globalisation.

OR

(b)  Explain any four cultural consequences of globalisation.

Analyse any two reasons for the Secessionist Movement in Nagaland.

11 P.T.O.
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leLEte)
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SECTIOND
Read the given passage carefully and answer the questions that follow : 4x1=4

‘Commons’ are those resources which are not owned by anyone but rather shared
by a community. This could be a ‘common room’ or a ‘community centre’, a park
or a river. Similarly, there are some areas or regions of the world which are
located outside the sovereign jurisdiction of any one state and therefore, require
common governance by the international community. These are known as ‘Global

Commons’.

(1) Which one of the following aspects best describes the ‘Global
Commons’ ?

(A)  Resources only accessible for scientific research.

(B)  Resources under the jurisdiction of a single nation.

(C)  Resources located outside the governance of developed nations.

(D)  Sovereign regions under the common governance of international

community.

(i1)  The Rio Summit of 1992 is also known as .
(A)  Global Summit (B) Planet Summit
(C)  Earth Summit (D) World Summit

(1i11)  Why is the international cooperation essential for managing the ‘Global
Commons’ ?
Choose the most suitable option from the following :
(A) Resources are abundant and self-replenishing.
(B)  There are political benefits for sharing resources of other countries.
(C)  Individual countries can manage their resources.

(D)  The approach towards sustainable development is common for all.

(iv)  Which of the following pair of countries was exempted from the

requirements of the Kyoto Protocol ?
(A)  China and Russia (B) China and India
(C)  China and USA (D) Indiaand France

13 P.T.O.



25. WA & fau e reHifae War-amt (78 15 ®), Fsmasa @ @), B), © 3w D)
o g1 JAferd foram T 2 | i &Y 1S SR o SR U, 39 TSAT ohl T8I shifSTy 371X
HUAT IR H 57k W AT, TANT shl 7T SRRT 3hT 6H HEAT q1 A | foar
T Wit T, i< & 7S aTferent o €9 | foAfa : 4x1=4

TR TS AHFRR | AAE A | tsgsam
T A T TR Gl e 3787

(1)

(ii)

(iii)

(iv)

(i) = Uy o8 qd TUTHE ATel SETgL IR 2T Heft o |

(i) =@ TSy foraw qe eawE sl ST i Heiy o |
(i) o% TS fored qd qewst . TS SA1gE A Hef T |
(iv) 98 U [SE® W o v Tregafal o &t fif st esfer o |

e 1 HECTRad T9 Fact greaniaa Ghemie & o7q Yo7 61 25 F T WE © 4x1=4
(25.1) 38 TS T A fAfaw forer e o v Trsgafa o aft. i st wisfer o |
(25.2) 38 TS 1 T TR forad qef qeareisit o, HHsT o1 &y o |
(25.3) 3 TS 1 T TR foraw qel et i ST 1 deier o |
(25.4) 39 TST o1 T TR e qef et SATet sreTet STt o6l Hsier o |
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25.

Note :

59/S/3

In the given political outline map of India (on page 17), four States have been

marked as @, , @ and @ Identify these States on the basis of the
information given below and write their correct names in your answer-book along

with the respective serial number of the information used and the concerned

alphabets given in the map as per the following format :

Serial number of the

information used

Concerned alphabet

given in the map

Name of the State

(i)

(ii)

(iii)

(iv)

4x1=4

(1) The State to which the former Prime Minister Lal Bahadur Shastri

belonged.

(1)  The State to which the former Chief Minister Karpoori Thakur belonged.

(i) The State to which the former Chief Minister C. Natarajan Annadurai

belonged.

(iv)  The State to which the former President of India V.V. Giri belonged.

The following questions are for the Visually Impaired Candidates only, in lieu

of Q. No. 25 :

4x1=4

(25.1) Name the State to which the former President of India V.V. Giri

belonged.

(25.2) Name the State to which the former Chief Minister K. Kamaraj belonged.
(25.3) Name the State to which the former Chief Minister Karpoori Thakur

belonged.

(25.4) Name the State to which the former Prime Minister Lal Bahadur Shastri

belonged.

16



For question no. 25

Outline Map of India (Political)

km Scale 1:15000,000 km
100500 100 200 300 400 500
o —  — —
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(= & Heifea 1A 2)

() T FohdTer ST BT H Uehe G T I T8 oL I6ehT 419 fIia |

(i) =T AT TRy (@) F AT S () o T H T J=Th T g3AT 2

(i) =T qE R I % sfter g foheei ot sTfelen afadH ot samen hif |

59/S/3 18



26.  Study the cartoon given below and answer the questions that follow. 1+1+2=4

(The cartoon is related to China)

THEN |

(1) Identify and name the leader who is holding the ‘Red Book’.

(i)  What ideological change took place in China from the ‘Red Book’ (Then)
to the ‘Red Tie’ (Now) ?

(i)  Explain any two economic changes that took place in China between

‘then’ and ‘now’.

59/S/3 19 P.T.O.



qie : HEfcTiad Jv7 Fac greanierd qaerTferal & o7 T G&q1 26 FTIFARE . [+1+2=4

27.

28.

29.

59/S/3

(26.1) = ¥ TS o1 TIfehor foret e A ferarm T o 2

(26.2) = H ATFETET ShIT~ T - L Tl HdT 3T T TRy |

(26.3) <t SAITIEAT F IeA o forw e fohel a1 hraht sht s iy |

Quse

(%) ARG gl oAl fopeel = fomvarsty =t sl hifsig | 6
areraT

@)  <feor sifn i Tl T fommarst &1 i Hifse S et T #1 Uh

AohfeTeh s ST € | 6
@) 1989 ® 1999 o sft=r Wi H =l fordl =R W@ TsiHifcer Setatl 1 o
HIST | 6
YT

(@) A ST SR USTHiTreh ATt o star T Heah o foheel =R e 1 au
T | 6
(F) G forear H e g o TR 3t STt hifsry | 6
AT

(@) G uiwE § SHE St S w1
SUTh o o Ha H, e g shl TALEHT ol SATITIHT hl T 31 ST | 6
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Note :  The following questions are for the Visually Impaired Candidates only, in lieu
of Q. No. 26 : 1+1+2=4

(26.1) In which year was the privatisation of agriculture introduced in China ?

(26.2) Name the leader who led the Communist revolution in China.

(26.3)  Explain any two factors responsible for the growth of Chinese economy.

SECTIONE

27. (a) Describe any four features of India-China relations. 6

OR

(b)  Describe any four features of South Korea that make it an alternate centre
of power. 6

28. (a) Describe any four major political developments that took place in India
from 1989 to 1999. 6

OR

(b) Describe any four issues on which consensus has emerged among most

political parties of India. 6
29. (a) Explain the relevance of the United Nations in the contemporary world. 6
OR
(b) ““The Security Council lacks equitable representation.’’

In the light of the above statement, explain the need for restructuring the

United Nations. 6

59/S/3 21 P.T.O.



30.  (F) 1947 9 forfe shean & foarem o foreei = uftommt =t fergetsor Hifsw |
AT

(@) IO o WA € 7 forerd o foTe STReEmft weral 1 fagetwor Hifsry |

59/S/3 22



30.

59/S/3

(a)

(b)

Analyse any four consequences of the partition of British India in 1947.
OR

Analyse the events that led to the merger of Manipur into the Union of

India.

23
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General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct assessment of
the candidates. A small mistake in evaluation may lead to serious problems which may affect the
future of the candidates, education system and teaching profession. To avoid mistakes, it is
requested that before starting evaluation, you must read and understand the spot evaluation
guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to public in
any manner could lead to derailment of the examination system and affect the life and future
of millions of candidates. Sharing this policy/document to anyone, publishing in any magazine
and printing in News Paper/Website etc may invite action under various rules of the Board
and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be done
according to one’s own interpretation or any other consideration. Marking Scheme should be strictly
adhered to and religiously followed. However, while evaluating, answers which are based on
latest information or knowledge and/or are innovative, they may be assessed for their
correctness otherwise and due marks be awarded to them. In class-X, while evaluating two
competency based questions, please try to understand given answer and even if reply is not
from marking scheme but correct competency is enumerated by the candidate, marks should
be awarded.

The Marking scheme caries only suggested value points for the answers These are in the nature of
Guidelines only and do not constitute the complete answer. The students can have their own
expression and if the expression is correct, the due marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each evaluator on the
first day, to ensure that evaluation has been carried out as per the instructions given in the Marking
Scheme. . If there is any variation, the same should be zero after delibration and discussion. The
remaining answer books meant for evaluation shall be given only after ensuring that there is no
significant variation in the marking of individual evaluators.

Evaluators will mark( ') wherever answer is correct. For wrong answer CROSS ‘X’ be marked.
Evaluators will not put right( V) while evaluating which gives an impression that answer is correct
and no marks are awarded. This is most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks awarded for
different parts of the question should then be totaled up and written in the left-hand margin and
encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and encircled.
This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks should be
retained and the other answer scored out with a note "Extra Question™.
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No marks to be deducted for the cumulative effect of an error. It should be penalized only once

11

A full scale of marks 80 marks given in Question Paper has to be used. Please do not hesitate to
award full marks if the answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours every day
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and evaluate 20 answer books per day in main subjects and 25 answer books per day in other
subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the Examiner in
the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e Wrong totaling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be marked
as cross (X) and awarded zero (0O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error detected by
the candidate shall damage the prestige of all the personnel engaged in the evaluation work as also
of the Board. Hence, in order to uphold the prestige of all concerned, it is again reiterated that the
instructions be followed meticulously and judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines for spot
Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to the title
page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment of the

prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners are once
again reminded that they must ensure that evaluation is carried out strictly as per value points for
each answer as given in the Marking Scheme.
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Marking Scheme
SUBJECT : POLITICAL SCIENCE (028) PAPER CODE NO : 59/S/3
Supplementary Examination,2024

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite
action under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In class-X, while evaluating two competency based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, marks should be awarded.

The Marking scheme caries only suggested value points for the answers These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. . If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking of
individual evaluators.

Evaluators will mark( V' ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right( V') while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note "Extra Question".

10

No marks to be deducted for the cumulative effect of an error. It should be penalized only

once

11

A full scale of marks 80 marks given in Question Paper has to be used. Please do not
hesitate to award full marks if the answer deserves it.

12

Every examiner has to necessarily do evaluation work for full working hours i.e. 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Guidelines).




13

Ensure that you do not make the following common types of errors committed by the
Examiner in the past:- Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect
answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14

While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

15

Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16

The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17

Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18

The candidates are entitled to obtain photocopy of the Answer Book on request on
payment of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.




SECTION - A

Pg

Marks

Tot

12X1=

12

Q1.

For this question, two statements are given - one labelled as
Assertion (A) and the other labelled as Reason (R). Read

these statements carefully and choose the correct option as
the answer from the options (A), (B), (C) and (D) given below.

Assertion (A) : Common property resources have dwindled
in size, quality and availability to the poor
in much of the world.

Reason (R): A combination of factors including
privatisation, agricultural intensification,
population growth and ecosystem

degradation are responsible for
degradation of common property.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason

(R) is the correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason
(R) is not the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

Ans

(A) Both Assertion (A) and Reason (R) are true and Reason
(R) is the correct explanation of the Assertion (A).

P-88-

Q2.

Match the List-l1 with List-Il and choose the correct option as
answer :

List-l List-Il

1. The Energy Conservation Act, India () 1975
2. The Electricity Act, India (i) 1992
3. Earth Summit (iii) 2001
4. World Council of Indigenous Peoples (iv) 2003

Options :

(A) 1-(iv), 2-(i), 3-(iii), 4-(ii)

(B) 1-(iii), 2-(iv), 3-(ii), 4-(i)

(C) 1-(i1), 2-(iii), 3-(i), 4-(iv)

(D) 1-(i), 2-(ii), 3-(iv), 4-(iii)

Ans

(B) 1-(iii), 2-(iv), 3-(ii), 4-())

P-90-

Q3.

People who flee from war, natural disaster or political
persecution are called

(A) Fugitives (B) Expatriates
(C) Refugees (D) Migrants

Ans

(C) Refugees

P-74

Q4.

“Disarmament” requires all states to

3




(A) give up certain kinds of weapons
(B) regulate the acquisition or development of weapons
(C) share information about arms with rivals

(D) coordinate their actions to deter or defend against
military attack

Ans

(A) Give up certain kinds of weapons

P-69

Q5.

The Presidents of which Central Asian Republics appointed
themselves to power first for ten years and then extended their
term for another ten years ?

(A) Kyrgyzstan and Kazakhstan

(B) Ukraine and Azerbaijan

(C) Turkmenistan and Uzbekistan

(D) Tajikistan and Kazakhstan

Ans

(C)Turkmenistan and Uzbekistan

P-10

Q6.

Arrange the following events in chronological order :

|. Gorbachev became the General Secretary of Communist
Party of the Soviet Union.

Il.Russia, Ukraine and Belarus declared that Soviet Union is
disbanded.

[1l. Russian Revolution.

IV. Fall of the Berlin Wall.
Choose the correct option.

(A) L Iv i

(B) NI, 1,1,V

©) LV

(D) LIV, 1,

Ans

(A) 111, IV, 11

P-3-]

Q7.

To which state of India does the Dimasa community belong ?
(A) Mizoram
(B) Tripura
(C) Assam
(D) Manipur

Ans

(C) Assam

127-l1

Q8.

Where was the Afro-Asian Conference held in 1955 ?
(A) Jakarta (B)Bandung
(C) Bali (D) Java

Ans

(B) Bandung

P-58-

Qo.

For this question, two statements are given - one labelled as
Assertion (A) and the other labelled as Reason (R). Read

these statements carefully and choose the correct option as
the answer from the options (A), (B), (C) and (D) given below.

Assertion (A) .  Instead of one tribal state, several states got

4




carved out of Assam.

Reason (R): Leaders of the major tribal communities
wanted to separate from Assam.
Options :

(A) Both Assertion (A) and Reason (R) are true and Reason
(R) is the correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason
(R) is not the correct explanation of the Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Ans (A) Both Assertion (A) and Reason (R) are true and Reason (R) is | P- 1
the correct explanation of the Assertion (A). 127-l1
Q10. | In which year did India and China sign the Panchsheel 1
Agreement ?
(A)1950 (B)1952
(C) 1954 (D) 1956
Ans | (C) 1954 P-58- 1
Il
Q11. | In which year did India start using the Electronic Voting
Machines (EVM) throughout the entire country ? 1
(A) 2001 (B) 2002
(C) 2003 (D) 2004
Ans | (D) 2004 P-29- 1
Il
Q12. | Which one of the following political parties was the main 1
opposition party in the first Lok Sabha ?
(A)Communist Party of India
(B)Bharatiya Jana Sangh
(C)Socialist Party
(D)Congress Socialist Party
Ans (A) Communist Party of India P-30- 1
Il
SECTION - B
Q13. | How is ‘global poverty’ a new source of threat to security in the 2
contemporary world ? Explain.
Ans Global poverty is a new source of threat to Human security as - | P-73-1 | 2x1=

(i) Population is expected to triple in the next 50 years. World
population—now at 760 crore— will grow to nearly 1000
crore by the middle of the 21st century. Rise in population

will consume more resources that would lead to poverty.




(ii) Many rich countries may see shrinkage of population. It will
make rich states richer and poor states, with large
populations, poorer. This disparity will create huge gap.

(iii) Economic disparity between Northern and Southern
countries involves a lot of problems.

Any other point (any two)

Q14.

Why was holding of the first general elections in 1952 a great
challenge for the Election Commission of India ? Explain.

Ans

Challenges for the Indian Election Commission were :

i) Big size of the country and electorate-17 crores voters.

i) Most of the voters were poor and illiterate. It was not easy
to hold a free and fair election.

iii) Till then democracy had existed only in prosperous
countries and many countries had not given voting rights to
all women. In this context India’s experiment with universal
adult franchise appeared very bold and risky.

iv) Preparation of electoral roll was a mammoth exercise.

v) The Election Commission had to train over one lakh officers
for polling .

(any other) (any two)

P-30-

2x1=

Q15.

How do economic growth and democracy help India in
providing greater security ? Explain.

Ans

Economic growth and democracy help India in providing greater
security in different ways. There has been an attempt to develop
economy to lift vast mass of citizens out of poverty and misery end
huge economic inequalities. Democracy in India believes in
resolving the issues and taking care of the regional aspirations,
which provides human security. Here people have the right to
voice their problems and demands before the government.

P-77-

Q16.

Highlight any two factors that contributed towards the
development of consensus around the need for planned
development in India.

Ans

Concensus developed around the need of planned development
on the following factors-

(i) Most of the stakeholders agreed that development could not
be left only to private actors.

(ii) Even industrialists agreed that the task of poverty
alleviation, social and political redistribution was the main
responsibility of the government which should plan a road
map for the development.

(iii) Industrialists gave the ‘Bombay plan’ which supported
planned development .

(iv) Most of the political leaders favoured planned development.

(any two)

46,47
-1l

2x1=
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Q17. | Explain any two reasons for protests by the people of East 2
Pakistan against West Pakistan prior to the creation of
Bangladesh.
Ans Reasons:-
(i) Domination of West Pakistan on East Pakistan and imposition
of Urdu language on East Pakistan. 2x1=
(i) Unfair treatment meted out to the Bengali culture and
language P-32-
(iii) Unfair representation of East Pakistan in administration and | |
political power.
(iv) The domination of West Pakistan led to the popular struggle
by Mujib-ur-Rahman in East Pakistan against this unfair
treatment.
(or any other relevant reason) (any two)
Q18. | Name any four Prime Ministers of India who led the Coalition 2
Governments at the Centre.
Ans Coalition Government at Centre led by- 11-143
1H=
i. V.P. Singh axe
i. H.D.Deve Gowda
ii. LK. Gujral
iv.  Atal Bihari Vajpayee
v. Manmohan Singh
vi.  Narender Modi
(any four)
SECTION C
Q19. | Analyse the Nuclear Policy of India.
Ans | India’s Nuclear Policy:- 11-68

i) India’s first Prime Minister Jawaharlal Nehru had faith in
science and technology for rapidly building a modern India.
An important component of his industrialization plans was the
nuclear programme initiated under the guidance of Homi J.
Bhabha.

i) India favoured the of use of atomic energy for peaceful
purposes only.

iii) India was against nuclear weapons.

iv) India did not sign the Nuclear Non-Proliferation Treaty (NPT)
and CTBT and as it considered both the treaties
discriminatory.

v) After conducting its first nuclear test, India termed it as
peaceful explosion.




vi) Previously India was for  No first Use’ but the government
has changed that perception.
Or any other relevant point (to be analysed)

Q20.

Explain any four features of the Soviet System.

Ans

Features of Soviet System-
(i) The Soviet system centred around only one party i.e. the
communist party.
(i)  The Soviet system ensured a minimum standard of living for
all citizens.
(iii) The government subsidised basic necessities including
health, education, childcare and other welfare schemes.

(iv)  There was no unemployment. State ownership was the
dominant form of ownership: land and productive assets
were owned and controlled by the Soviet state.

Or any other relevant feature (Any four features)

4x1=

Q21.

(@)

(b)

“India enjoys a very special relationship with Bhutan.”
Support the statement with two examples.

OR
Analyse any two reasons for the problems that India has with
its smaller neighbours.

Ans

(@)

(b)

India — Bhutan Relationship-

i. India enjoys a very special relationship with Bhutan and does
not have any major conflict with the Bhutanese government.
The efforts made by the Bhutanese monarch to weed out
guerrillas and militants from northeastern India that operate in
his country ,have been helpful to India.

ii. India is involved in big hydroelectric projects in Bhutan and is
the biggest source of development aid to Bhutan.

Any other relevant point (any two)

OR

Reasons for the problems that India has with its smaller neighbours-

i. Given its size and power, they are bound to be suspicious of

India’s intentions. The Indian government, on the other hand,
often feels exploited by its neighbours.

ii. India does not like political instability in these countries, fearing

it can help outside powers to gain influence in the region.

P-41-1

P-41,1

2X2=

2X2=
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ii. The smaller countries have a fear that India wants to be a
regionally-dominant power , but India is always helpful to all the
neighbouring countries.

(any two reasons)

Q22.
()

(b)

Explain any four economic consequences of globalisation.
OR
Explain any four cultural consequences of globalisation.

Ans

(@)

(b)

The Economic consequences of globalisation:

(i) Globalization has led to similar economic policies adopted
by governments in different parts of the world.

(i) It has involved greater trade in commodities across the
globe; the restrictions imposed by different countries on
allowing the imports from other countries have been
reduced.

(iii)  Globalization has led to spread of internet and computer
related services.

(iv)  Economic globalization has created an intense division of
opinion all over the world. Those who are concerned
about social justice are worried about the extent of state
withdrawal caused by processes of economic
globalization.

(V) Globalization generates greater economic growth and
well being for larger sections of the population when there
is de — regulation. Greater trade among countries allows
each economy to do what it does best.

Or any other relevant consequence
(any four consequences)
OR

Cultural globalisation has both positive as well as negative
consequences-
i. Cultural globalization leads to the fear that it may threaten the
culture of any particular country.
ii. The rise of uniform culture is going to affect the old culture of a
country.
iii. The culture of a dominant country leaves its imprints on the less
powerful and poor countries.
iv. Sometimes external influences enlarge our choices and also
modify our culture without overwhelming the traditional culture .

iv. Cultural heterogenisation leads to each culture becoming

different and distinctive.
Any other relevant point
(any four consequences)

1-104
—105

1-106
- 107

4x1=

4x1=

Q23.

Analyse any two reasons for the Secessionist Movement in
Nagaland.

Ans

Reasons-




i Naga people led the struggle for sovereignty of their
people.

ii. The people and leaders of the Naga movement
demanded independence and a separate state from
India.

Any other point (any two)

11-128

2X2=

SECTION D

Q24.

Read the given passage carefully and answer the questions
that follow :

‘Commons’ are those resources which are not owned by
anyone but rather shared by a community. This could be
a ‘common room’ or a ‘community centre’, a park or a
river. Similarly, there are some areas or regions of the
world which are located outside the sovereign
jurisdiction of any one state and therefore, require
common governance by the international community.
These are known as ‘Global Commons’.

(i) Which one of the following aspects best describes the
‘Global Commons’ ?

(A) Resources only accessible for scientific research.
(B) Resources under the jurisdiction of a single nation.

(C) Resources located outside the governance of developed
nations.

(D) Sovereign regions under the common governance of
international community.
(ii) The Rio Summit of 1992 is also known as
(A) Global Summit (B) Planet Summit
(C) Earth Summit (D) World Summit
(i) Why is the international cooperation essential for
managing the ‘Global Commons’ ?
Choose the most suitable option from the following :

(A) Resources are abundant and self-replenishing.

(B) There are political benefits for sharing resources of
other countries.

(C) Individual countries can manage their resources.

(D) The approach towards sustainable development is
common for all.
(iv) Which of the following pair of countries was exempted
from the requirements of the Kyoto Protocol ?
(A) China and Russia (B) China and India
(C) China and USA (D) India and France

4x1=

i. D) Sovereign regions under the common governance of
international community.

ii. C) Earth Summit

iii. D) The approach towards sustainable development is
common for all.

4x1=

10




iv. B) China and India

Q25.

In the given political outline map of India (on page 17), four
States have been marked as A, B, C and D. Identify these
States on the basis of the information given below and write
their correct names in your answer-book along with the
respective serial number of the information used and the
concerned alphabets given in the map as per the following

format:

Serial number of
theinformation
used

Concerned alphabet
given in the map

Name of the
State

(i)

(i1)

(i)

(iv)

(i) The State to which the former Prime Minister Lal
Bahadur Shastri belonged.
(i) The State to which the former Chief Minister Karpoori
Thakur belonged.
(i) The State to which the former Chief Minister C.
Natarajan Annadurai belonged.
(il)The State to which the former President of India V.V.

Giri belonged.

y

g~

0ff H{ﬁ%ﬁ%ﬁndi

£

4x1=

Ans

Serial number of the
information used

Concerned
alphabet given in
the map

Name of the
State

(i)

C

Uttar Pradesh

(i)

D

Bihar

74,78,

4x1

11




(iii) B Tamil Nadu 82,
(iv) A Andhra 83-11
Pradesh
Note:  The following questions are for the Visually Impaired 4x1=
Candidates only, in lieu of Q. No. 25:
(25.1) Name the State to which the former President of
India V.V. Giri belonged.
(25.2) Name the State to which the former Chief Minister K.
Kamaraj belonged.
(25.3) Name the State to which the former Chief Minister
Karpoori Thakur belonged.
(25.4) Name the State to which the former Prime Minister
Lal Bahadur Shastri belonged.
Note: The following questions are only for the Visually 4x1=
Impaired Candidates in lieu of Q. No. 25
25.1 Andhra Pradesh
25.2 Tamil Nadu
25.3 Bihar
25.4  Uttar Pradesh
(any one)
Q26. | Study the cartoon given below carefully and answer
the questions that follow :
(The cartoon is related to China)
THEN
1+1+2
P-24-|

(i) Identify and name the leader who is holding the ‘Red
Book’.

(ii) What ideological change took place in China from the
‘Red Book’ (Then) to the ‘Red Tie’ (Now) ?

12




(iii)Explain any two economic changes that took place in
China between ‘then’ and ‘now’.

(1) Mao 1
(i) Shift from closed economy to open economy 1
(iii) . China ended its political and economic isolation and 2
established relations with the US in 1972.
o Premier Zhou Enlai proposed the four modernisations —
agriculture, Industry, Science and Technology and
Military in 1973.
o Deng Xiaoping announced open door policy and
economic reforms in China.
. Sez’s were established.
Or any other relevant change (any two changes)
Note :The following questions are for the Visually Impaired 1+1+2
Candidates only, in lieu of Q. No. 26 : =
(26.1) In which year was the privatisation of agriculture
introduced in China ?
(26.2) Name the leader who led the Communist revolution in
China.
(26.3) Explain any two factors responsible for the growth of
Chinese economy.
Note : The following guestions are for Visually Impaired
Candidates only, in lieu of Q. no. 26.
26.1 1982 1
26.2 Mao 1
26.3 2

e Its economic integration with its neighbouring countries is
responsible for the growth of Chinese economy.

e The strength of China’s economy , together with other
factors such as population , land mass, resources and
political influences etc. are responsible for its economic
growth.

Or any other relevant point

P-23

SECTION E

Q27.
€))

Describe any four features of India-China relations.

OR
Describe any four features of South Korea that make it an
alternate centre of power.
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(b)

Ans

(@)

(b)

India-

Vi.

Vii.

Or any

Chinarelations-

India and China were great powers in Asia before the
advent of Western imperialism.
Prime Minister Nehru and Chinese Premier Zhou Enlai
adopted Panchsheel, the Five Principles of Peaceful Co-
existence on 29 April 1954.
China annexed Tibet in 1950 and thus removed a
historical buffer between the two countries.
China and India had limited political and cultural
interaction and were not familiar with each other when
confronted in the twentieth century.
There is resentment between the two countries on
boundary issues.
The boundary disputes led to a massive Chinese invasion
in October 1962. Finally, China declared a unilateral
ceasefire but relations between the two countries
worsened strained.
Process of peace between the two was initiated by the
visit of Rajiv Gandhi to China in 1988.

other relevant point

(any four points )

OR

Features that make of South Korea as an alternate center of

power-

Between the 1960s and the 1980s, South korea rapidly
developed into an economic power, which is termed as
“Miracle on the Han River”.

Signalling its all-round development, South Korea became a
Member of the OECD in 1996.

In 2017, its economy was the eleventh largest in the world

and its military expenditure was the tenth largest.

25,26

1-27

4x1%=

3x2=
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iv.  According to the Human Development Report 2016, the HDI
rank of South Korea is 18.

v. The major factors responsible for its high human
development include “successful land reforms, rural
development, extensive human resources development and
rapid equitable economic growth.”

Vi. Other factors are its export orientation, strong

redistribution policies, public infrastructure development,

effective institutions and governance.

Or any other relevant point

(any four points)

Q28.
(@) Describe any four major political developments that took
place in India from 1989 to 1999.
OR
(b) Describe any four issues on which consensus has
emerged among most political parties of India.
Ans
(&) | Four major political developments that took place in India from P-
1989 to 1999 are:- 137- | 4x 1%
|.Defeat of the Congress party in the Lok Sabha elections held in | 139-11 | =
1989.
II.Rise of the ‘Mandal issue’ in national politics.
[II.New economic reforms or the structural adjustment programme
IV.Rise of the BJP and the politics of ‘Hindutava’.
V.Assassination of Rajiv Gandhi in May 1991 .
(Any Four with explanation)
OR
(b) | Fourissues on which consensus has emerged among most political
parties of India-
I.Agreement on new economic policies for the prosperity and | P- 4 X 1%
status of economic power of India in the world. 153, |_
II.Acceptance of the political and social claims of the other | 155-II
backward classes (OBC).
lll.Acceptance of the State level parties in governance of the
country.
IV.Emphasis on pragmatic considerations rather than ideological
positions and political alliances without ideological agreement.
(Any Four with explanation)
Q29.
(@) Explain the relevance of the United Nations in the

contemporary world.
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OR

(b) “The Security Council lacks equitable representation.”
In the light of the above statement, explain the need for
restructuring the United Nations.

Ans

(@) Relevance of the United Nations in the Contemporary world-

e UN has the objective to prevent the International conflicts S8 to
and to facilitate cooperation among the states. 60-I 6x1=

e |t has worked to stop or prevent wars.

e Some countries think that the UN could cope better with a
world in which the US is the most powerful country, without
any serious rivals.

e The UN can and has served to bring the US and the rest of
the world into discussions over various iSsues.

e US leaders, in spite of their frequent criticism of the UN, do
see the organization as serving a purpose in bringing
together over 190 nations in dealing with conflict and social
and economic development.

o For the rest of the world, the UN provides an arena in which
it is possible to modify US attitudes and policies.

e The UN is an imperfect body but without it the world would
be worse off. As technology increases planetary
interdependence, the importance of the UN will increase.
Hence this organisation is very relevant.

(Assess as a whole) (any three)
OR

(b) The need for restructuring the United Nations:-

e The Security Council no longer represents the
contemporary political realities.

« Its decisions reflect only Western values and interests and
are dominated by a few big powers.

o It lacks equitable representation with no representation from
Latin America and Africa as far as permanent members are
concerned. 52-| 6

« Permanent members of the UN have Veto power but non-
permanent members do not have such power.

(Evaluate as a whole)

Q30.

(@) Analyse any four consequences of the partition of British
India in 1947.

OR

(b) Analyse the events that led to the merger of Manipur into
the Union of India.

Ans

(@) Consequences of the partition of British India in 1947 are:-

(hIt was the largest, unplanned , most abrupt and tragic transfer Pg 9- | 4x1%

of people.
(i) Killings and atrocities on both sides of the border, in the name
of religion and community.

16




(b)

(iii) Cities like Lahore, Amritsar and Kolkata got divided in
communal zones.
(iv) People were forced to abundant their home and move
across border with immense sufferings.
(v) Minorities on both side had to secure temporary shelter in
refugee camps. Refugees had to suffer great loss and ill
effects of violence.
(vi) Lakhs of people were killed, women were killed, abducted
and raped on both the sides of border.
(vii) People were forced to convert religion.
(viii) Many women were killed by their family members to preserve
the ‘family honour’. Children got separated from parents and
become homeless.
(To be anaylsed)
(any four)
OR

The events that led to the merger of Manipur into the Union of

India are:-
(i) A few days before Independence, the Maharaja of
Manipur, Bodhachandra Singh, signed the Instrument of
Accession with the Indian government on the assurance that
Internal autonomy of Manipur would be maintained.
(i) Under the pressure of public opinion the Maharaja held
elections in Manipur in June 1948 and the state became a
constitutional monarchy.
(i) Manipur was the first part of India to hold an election
based on universal adult franchise.
(iv) The government succeded in pressurising the Maharaja
into signing a Merger Agreement in Sept 1949, without
consulting the popularly elected legislative Assembly. Thus
Manipur was merged into the Union of India.

(Assess as a whole)

P-18-
I
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